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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you understand by sampling ? Explain the 

procedure of selecting sample using methods of 

probability sampling. 

izfrp;u ls vki D;k le>rs gSa \ izkf;drk izfrp;u dh 

fof/k;ksa dk mi;ksx djrs gq, izfrn’kZ dks pquus dh izfØ;k 

dh O;k[;k dhft,A 

2. How does a normal distribution differ from binomial 

distribution ? Explain the properties and uses of normal 

distribution. 

izklkekU; caVu f}in caVu ls fdl izdkj fHkUu gS \ 

izklkekU; caVu ds y{k.k rFkk mi;ksx dh O;k[;k dhft,A 

3. What is test of significance ? Explain various tests of 

significance for the cases when the size of sample is 

large. 

lkFkZdrk ijh{k.k D;k gS \ izfrn’kZ dk vkdkj cM+k gksus dh 

n’kk esa iz;ksx fd, tkus okys fofHkUu lkFkZdrk ijh{k.kksa dh 

O;k[;k dhft,A 

4. Define Social Research. What are the applications of 

computers in Social Research ? 

lkekftd vuqla/kku dks ifjHkkf”kr dhft,A lkekftd 

vuqla/kku esa dEI;wVj ds D;k vuqiz;ksx gS \ 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Distinguish between a population and a sample. 

lef”V vkSj izfrn’kZ esa vUrj Li”V dhft,A 

2. Explain Classic, Axiomatic and Probability function 

approaches to define probability. 

izkf;drk dks ifjHkkf”kr djus ds fy, ‘kkL=h;@ikjEifjd 

Lo;afl) vkSj izkf;drk dk;Z n`f”Vdks.kksa dh O;k[;k dhft,A 

3. The company XYZ manufacturing bulbs hypothesizes 

that the life of its bulbs is 145 hours with a known 

standard deviation of 210 hours. A random sample of 

25 bulbs gave a mean life of 130 hours. Using a 0.05 

level of significance, can the company conclude that 

the mean life of bulbs is less than the 145 hours ? 

dEiuh XYZ tks cYcksa dk fuekZ.k djrh gS mldk ;g 

vuqeku gS fd 210 ?kaVs ds Kkr ekud fopyu ds lkFk 

mlds ;gk¡ fufeZr cYc dk thou dky 145 ?kaVs gSA 25 cYc 

tks fd nSo izfrp;u ls pqus x,] us cYcksa dk vkSlr 
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thoudky 130 ?kaVs fn;kA 0-05 lkFkZdrk Lrj dk mi;ksx 

djrs gq,] D;k dEiuh bl fu”d”kZ ij ig¡qp ldrh gS fd 

cYc dk vkSlr thoudky 145 ?kaVs ls de gS \ 

4. Explain the significance test in variables in small 

samples. 

NksVs leadksa ds lUnHkZ esa pjksa ds lkFkZdrk ijh{k.k dh O;k[;k 

dhft,A 

5. Distinguish between correlation and regression with 

the help of an example. 

,d mnkgj.k dh lgk;rk ls lglEcU/k vkSj izrhixeu ds 

e/; vUrj Li”V dhft,A 

6. Describe the techniques of Statistical Quality Control. 

lkaf[;dh; xq.koŸkk fu;U=.k dh rduhdksa dk o.kZu  

dhft,A 

7. Describe control charts for variables. 

pjksa ds fy, fu;U=.k pkVZ dk o.kZu dhft,A 

8. Explain the approaches of research  

methodology. 

vuqla/kku i)fr ds n`f”Vdks.kksa dh O;k[;k dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. Interviewing all members of a given population is 

called : 

(a) A sample 

(b) A Gallop poll 

(c) Census 

(d) None of these 

nh gqbZ lef”V ds lHkh lnL;ksa dk lk{kkRdkj fuEufyf[kr esa 

ls D;k dgykrk gS \ 

¼v½ ,d izfrn’kZ 

¼c½ ljiV@rst losZ{k.k 

¼l½ lax.kuk 

¼n½ buesa ls dksbZ ugha 

2. Probability of second event in situation if first event 

has occurred is classified as : 

(a) Series probability 

(b) Conditional probability 

(c) Dependent probability 

(d) None of these 

igyh ?kVuk ds ?kfVr gks tkus dh fLFkfr esa nwljh ?kVuk dh 

izkf;drk dks fuEufyf[kr esa ls fdl Js.kh esa oxhZd`r fd;k 

tk,xk \ 

¼v½ Ük`a[kyk izkf;drk 
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¼c½ l’krZ izkf;drk 

¼l½ vkfJr izkf;drk 

¼n½ buesa ls dksbZ ugha 

3. By taking a level of significance of 5% it is the same as 

saying : 

(a) We are 5% confident the results have not 

occurred by chance. 

(b) We are 95% confident that the results have not 

occurred by chance. 

(c) We are 95% confident that the results have 

occurred by chance. 

(d) None of these 

5% ds lkFkZdrk Lrj dks eku ysuk fuEufyf[kr esa ls D;k 

dgus ds leku gS \ 

¼v½ ge 5% vk’oLr gSa fd ifj.kke la;ksxo’k ugha vk, gSaA 

¼c½ ge 95% vk’oLr gSa fd ifj.kke la;ksxo’k ugha vk, 

gSaA 

¼l½ ge 95% vk’oLr gSa fd ifj.kke la;ksxo’k vk, gSaA 

¼n½ buesa ls dksbZ ugha 

4. If A and B are two events which are not mutually 

exclusive, then : 

(a) P (A ∪ B) = P (A) + P (B) – P (A ∩ B) 

(b) P (A ∪ B) = P (A) – P (B) + P (A ∩ B) 

(c) P (A ∪ B) = P (A) + P (B) + P (A ∩ B) 

(d) None of these 
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vxj , vkSj ch nks ?kVuk,¡ gSa tks ijLij vuU; fof’k”V ugha 

gSa] rks ml fLFkfr esa % 

¼v½ ih ¼, ∪ ch½ = ih ¼,½ $ ih ¼ch½ & ih ¼, ∩ ch½ 

¼c½ ih ¼, ∪ ch½ = ih ¼,½ & ih ¼ch½ $ ih ¼, ∩ ch½ 

¼l½ ih ¼, ∪ ch½ = ih ¼,½ $ ih ¼ch½ $ ih ¼, ∩ ch½ 

¼n½ buesa ls dksbZ ugha 

5. In the testing of hypothesis, the level of significance is 

denoted by : 

(a)    

(b)    

(c)    

(d) None of these 

ifjdYiuk ds ijh{k.k esa lkFkZdrk Lrj dks fuEufyf[kr esa 

fdlds }kjk n’kk±;k tkrk gS \ 

¼v½    

¼c½    

¼l½    

¼n½ buesa ls dksbZ ugha 

6. If the computed value of Z lies in the rejection region 

which of the following is true ? 

(a) The null hypothesis is accepted. 

(b) The alternative hypothesis is rejected. 

(c) The null hypothesis is rejected. 

(d) None of these 
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;fn Z dk ifjdfyr eku vLohd`fr {ks= esa gS] rks 

fuEufyf[kr esa ls dkSu&lk dFku lR; gS \ 

¼v½ ‘kwU; ifjdYiuk Lohdkj dh tkrh gSA 

¼c½ oSdfYid ifjdYiuk vLohdkj dh tkrh gSA 

¼l½ ‘kwU; ifjdYiuk vLohdkj dh tkrh gSA 

¼n½ buesa ls dksbZ ugha 

7. rxy denotes : 

(a) Correlation coefficient between Y and X 

(b) Regression coefficient between X and Y 

(c) Regression coefficient between Y and X 

(d) None of these 

rxy fuEufyf[kr esa fdls fufnZ”V djrk gS \ 

¼v½ okbZ vkSj ,Dl ds e/; lg&lEcU/k xq.kkad 

¼c½ ,Dl vkSj okbZ ds e/; izrhixeu xq.kkad 

¼l½ okbZ vkSj ,Dl ds e/; izrhixeu xq.kkad 

¼n½ buesa ls dksbZ ugha 

8. In regression analysis in order to quantify the 

qualitative variables, which of the following variables 

is used ? 

(a) Dependent variable 

(b) Independent variable 

(c) Dummy variable 

(d) None of these 
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izrhixeu fo’ys”k.k esa xq.kkRed pj dks ekius ds fy, 

fuEufyf[kr esa ls fdl pj dk iz;ksx fd;k tkrk gS \ 

¼v½ vkfJr pj 

¼c½ LorU= pj 

¼l½ dfYir pj 

¼n½ buesa ls dksbZ ugha 

9. Which of the following is true for non-parametric 

tests ? 

(a) Normality assumption is required 

(b) Use the metric data 

(c) Can be applied for large samples 

(d) Normality assumption is not required 

xSj&izkpfyd ijh{k.k ds lEcU/k esa fuEufyf[kr esa ls D;k 

lR; gS \ 

¼v½ izlkekU;rk dh /kkj.kk visf{kr gS 

¼c½ ekih; leadksa dk mi;ksx gksrk gS 

¼l½ cM+s leadksa ds fy, ykxw fd;k tk ldrk gS 

¼n½ izlkekU;rk dh /kkj.kk visf{kr ugha gS 

10. In research report .............. is used to acknowledge 

indebtedness.  

(a) Bibliography 

(b) Index 

(c) Appendix 

(d) Foot-notes 
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vuqla/kku fjiksVZ esa 
----------------------------

 ds vkHkkj dks O;Dr djus ds 

fy, iz;ksx fd;k tkrk gSA 

¼v½ xzaFk lwph 

¼c½ vuqØef.kdk 

¼l½ ifjf’k”V 

¼n½ ikn fVIif.k;k¡ 
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